SR il 2018 ~2019 “2AF BE SR — % WG] A 207 ok Wil
S _MEBESEERREDIRE

—VEFB (KRB 10 NE, BMHA S, 405, F1I~THHRIE,F 8~10 AA Bk, £k
WHF 47, ENELRLNE2 7, FEBESRENSF 0 5)

1 2 3 4 5 6 7 8 9 10

&

¥
| o

A C D C B D B AC BC BD

Z IR (AREAE 1 ME, 8 4y)
11. (8 43) (DBC(3 43 BT 1 ANEE 2 4 A 55575 0 4% .)
(DZIFER2 43 0.80(0.78~0. 84 Huf) (3 4)
SER(AFEE 3 /M@, £ 325, BENSHLENXFRA.FEXANEEZENEESE, R
EREERNAES, AHETENE, EXP L APHES HHEMRM)
12. (6 4% (1in(2 4
(2)Am=2X2.0136 u—3.0150 u—1.0087 u=0.0035 u (2 4
th Z K EGERE TR AE=Amd* =3. 26 MeV (2 43)
13. (12 4%
fifp - (1) A% R 2% 4 H L R AT 200 U, =220 V(L 41
i =)
ff s P, =2200 W(1 4»)

(2) B R A% TR 25 Sy A H A 30UE U, ,%:%u )

f#15 U,=1100 V

W LW A L. P,=P,=U; 1, 4
fied I,=2 A

HHE AU=LR(1 4

AU=100 V

Th AR B 45 0 i B R U, =U, +AU (1 43)
fi#1% U,=1200 V

TR AR st b P P, =U, I, (1 43)

fi#1% P, =2400 W(1 43)

. U
(3) 7 FE A8 FE R AL AT A0 U S 5= (140
ﬁ#ﬁ% U,=300V
. NN P P
S H AL TR N Il:ﬁ:juﬁ)

ﬁgﬁ% I,=8 A
HL IR HL S A U E= 1 r+U, =340 V(1 43)

o B S EE R R hr i 5 1 Tk 3 50



14. (14 43
fife . (X4 e iy A= 0 58 — 5 B pmg =ma, (1 43)
a; =2 m/s’
W PAEIZ i R P KGR E N v o =ait, (1 53)
Py 5 i L 01 =0 —a,t (1 43)
#1586, =2 s,v,=4 m/s(1 43

(2)0~1, B P IR RS ) =t =4 m(1 43)

FEREAERERS o =00t — waati =14 m(1 5)

2
Yy BRA S AE R W LR [ A Ax =2, — 2, =10 m(1 43)
PR TR U L B 2 — =5 w1 )

2

) B ) 2 5 o ) 1 B x/:;j —4 m(1 4

Wy B AR o T A B R 1) m-’=1~2’—1-/=§ m(2 4

A1 ep A XL B Ay =m—m’=2§ m(2 497 A (140

M GEMRE (30 2 BEEEMNLHWGEE 3—3YEE 3—1)FEE—EREZ, WRSH,
) 2 By i B G 18 3— 31 BR it 47 )

[tz 3-—33C30 73

15, Z T e #% L (R 6 43, 36 18 7 BUIEBR A AR . XS 1 45 2 70 26X 2 45 4 4 Xt 3
A 6 o B — 40 3 KA 0 4

@) (2 3

BDE ABD ADE

16 J1 B AL 1 /NGB 3L 12 45, R RS HA B (9 SCF B0 R MR S B ST, R
T I A B IR AT A A BT 0 B 25 o 2 T B 5 L B 2R3
i (1) 3% 530 0 E IR E pr S=mg+ poS (14
P AR A A A ﬁﬁiﬂ%fi%:%(z 7
ﬁgﬁ%‘:’rl:l- 2T, (1 ﬁj\)

(VLT AL BT B PR A L 2+ B i = 22 4

T,=1.5T, (14>

) SR AP FAR T W = — p (1—0.80)S(2 51
RAE AT 5 —EH AU=W+Q2 41)
15 AU=Q—0. 24 p,1S(1 43)

B WS R AR 5 2 T3t 3 D)




Ltz 3—43C30 73
17. ZW PR 6 9 3L 18 7. SHIEBRZA Sbn 5 XS 1 N4 2 70 XS 2 N4 4 4 XS 3
A4 6 o BERREE— 40 3 o  E RIS 0 90

@YD) (2) 3

BDE ABD ADE

18 R ORI 1 /AR 3R 12 43 o 28 NS b B SO B O B AR R B D B R
B i 2 SR R0 A AT 5 00 L 2 58 rp s T S R R R )

W OB 7 S P2 ) ’
30°
1 LA 6 2 77 2 0= 30° )
1% =60° MEIICEAN
S B AC 315 H B L G2k R T £ BE S B—a=30° (2 4) b
(2>IEF=%=0. 15 m(14») B c
Zp e 3 m(1 43

:4cos(‘8*a) 10

SETENR B P A 1 v:ni(z )
S A =R B 3 5 B B 28 1 A B ] ,t:‘%+%<2 43

ﬁ@ﬁ%:z:gx1o*8 s=1.4X10 " s (24}

B WS R KA bR 5 3 T3k 3 D)






